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February 7th, 2009 
SCHOOL NAME_____________________________TEAM NUMBER ____________ 

Participant’s (1) Name __________________________________ (Be Neat)

Participant’s (2) Name ___________________________________ (Be Neat)

INSTRUCTIONS 

1. Turn in all exam materials when directed.   Missing exam materials will result in immediate disqualification of the team in question. 

2.  Inappropriate drawings, comments or answers will result in disqualification of the team from this event.
3. You may separate the pages but they ALL must be restapled at end of the test.  If they are not, I will take off 2 pts. 
4. Only the answers provided on the Answer Sheet (not scrap paper or the test) will be considered. 
5. Point values for each question are shown.  Tie breakers are listed.  (T1-T5).

6. When the time is up, the time is up. Continuing to write after the time is up risks immediate disqualification. 

7. Unless otherwise specified the terms second, minute, hour, day, month, and year will represent the common daily usage of these terms.  

60 second = 1minute
       60 minutes = 1 hour
    24 hours = 1 day
 365.25 days = 1 year
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Exploring the World of Science
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g=9.8m/sec2   c=3*108m/sec  G=6.67*10-11 N*m2/kg2    h=6.63*10-34 J*sec    msun=1.99*1030kg
mmoon=7.36*1022 kg
mEarth=5.98*1024kg  
mean Earth-Sun distance=1.496*1011m=1AU
mean Earth-Moon distance=3.84*108m
Part 1:  








Team Number_____
Record all times for this part in seconds.

1.  First Time Interval: ____________

3.  Third Time Interval: ____________
2.  Second Time Interval: ____________
4.  Fourth Time Interval: ____________

5.  Fifth Time Interval: ____________  (T1)








    Part 1 Deductions:____________
Part 2:  

1.  1841

2.  1675

3.  1658

4.  1808

5.  1792

6.  1583

7.  1530

8.  1884

9.  1686

10.  1344

11.  1730

12.  1955

13.  1900

14.  1582

15.  1876

16.  1090

17.  1586

18.  1929

Matching Deduction: _____
(½ pt each)
19.  Greenwich Mean Time  (1pt)
20.  Coordinated Universal Time (1pt)
21.  International Atomic Time (1pt)
22. Common/Current/Christian Era (1pt)

23.  31,557,600 sec (1pt) or 31,536,000 (1/2 pt)

24. 499 seconds-500sec (1pt)

25.  5.4*107 years (1pt)
26.  Feb 9th   14:51 (2 pts total: 1/2 pt for each)
_______/_______/______:_______ 
Month /    Day    /     Hour:Minute     

27. Pinwheel Escapement (2pts) or Escapement (1pt)
28.  Allows the stored energy in a clock to be released slowly and in a controlled fashion.  (1pt)
29.  12 (1pt)
30.  6 hrs of day, 6 hrs of night, thus the length of an hour would change throughout the year. (1pt)
31. 20 days (1pt)
32.  John Harrison (1pt)
33.  Either two be able to determine longitude, to win the Longitude Act prize, or win 20,000 pound prize. (1pt)
34.  6:00a.m. (1pt)

35.  6:00a.m.  (1pt)

36.  4:00a.m. (1pt)

37.  6:30p.m. (1pt)

38.  6.7 hours (1pt)
39.  Cesium 133 (Cs-133) (1/2pt)

40.  Zero (1/2pt)

41.  53 sec (1pt)

42.  1.2*10-7g/cm3  or e^(-15.96) g/cm3   (2pt)
from ln (x)=-(1.45)*(1yr)+ln(5*10^-7), 

so ln (x)=-15.96  

43. 0.35 years  (2pts)

from ln(3*10^-7)=-1.45*t+ln(5*10^-7)
44. 2454868, 2454869, or 2454870 (1pt)
45. July 4th, 1776 (1pt)

46.    1 sec (1pt)
47.   3 sec (1pt)
48.  89.4 years (2pts),   89 yrs (1.5 pts)
49. 20 to 21 minutes (1pt)
50. 224 to 225 days (1pt)
51.  2.648 years (2pts)   2.6 years (1.5 pts)
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52.  15 sec (1pt)

53.  2.8 sec (1pt)

54.  2.8 sec (1pt)

